AAT TECHNICIAN LEVEL 4

Credit Management and Control


LESSON TWO: KPIs, CREDIT SCORING AND DISCOUNTS
1 Key Performance Indicators.
The customer is assessed on the basis of 

· Profitability indicators

· Liquidity indicators

· Debt indicators

· Cash flow

1. Profitability indicators

	· Gross Profit margin
	GP

Revenue x 100%


	· Profit margin


	Net profit
Revenue x 100%

	· Return on Net Assets.

· Return on Capital employed
	Profit

Net assets x 100%

Profit

Capital emp x 100%

	· Interest cover


	Operating Profit
Interest                       eg. 4


2. Liquidity indicators

	· Current ratio
	 Current assets 
Current liabilities          Eg 5:1


	· Quick ratio

· Acid test
	Current assets-inventory 

    Current liabilities


	· Accounts receivable collection period
	Trade receivables
    Revenue            x365

	· Accounts payable payment period
	Trade payables
   Purchases          x365

	· Inventory holding period in days
	Inventory
    COS                  x365


3. Debt indicators

	· Gearing ratio
	       NCL     .

Equity + NCL     x100%


	· Short term debt ratio


	Short term debt                   curr liab

   Total debt     .                  curr+NCL

	· Interest cover


	Operating Profit

Interest                       


4. Cash flow indicators

	· EBITDA
	Earings before interest, tax, depreciation & amortisation
ADD BACK

	· EBITDA interest cover


	EBITDA
Interest

	· EDITDA to total debt


	  EBITDA
Total debt


5. Working capital cycle

This measures the amount of time from when cash is paid out for raw materials to when cash is received for goods sold.

Working capital cycle

= 
inventory turnover

 
+ 
accounts receivable days

· Accounts payable days

2 Credit scoring.
A set of benchmark ratios are prepared by the company. The rating system is used to assess risk.

A customer has the following indicators

	
	2008
	2007

	Operating profit margin
	-8%
	1%

	Interest cover
	0
	0

	Current ratio
	1.5
	3.5

	Gearing
	21%
	12%


Scoring system

	
	

	Operating profit margin
	

	Losses
	-5

	Less than 5%
	0

	Less than 10%
	5

	More than 10%
	10

	
	

	Interest cover
	

	none
	-15

	Less than 1
	-10

	Between 1 and 2
	-5

	More than 2
	0

	
	

	Gearing
	

	Less than 20%
	20

	Less than 30%
	10

	More than 30%
	0

	
	

	Current ratio
	

	Less than 1
	-10

	Between 1 and 2
	0

	Between 2 and 3
	5

	More than 3
	10


Low risk


above 0

Medium risk

0 to -15

High risk


-15 and below

	
	2008
	Medium
	2007
	Low 

	Operating profit margin
	-8%
	-5
	1%
	0

	Interest cover
	0
	-15
	0
	-15

	Current ratio
	1.5
	0
	3.5
	10

	Gearing
	21%
	10
	12%
	20

	
	
	-10
	
	15


3 Overtrading

Overtrading is common when a business starts out or is growing rapidly.
Signs are:

Overdraft

Increasing sales

Increased receivables, payables, inventory

4 Refusal of credit.
How should refusal of credit be communicated to a customer?

· Give reasons for the refusal of credit

· Suggest ways that the customer can improve their credit assessment.

· Suggest ways that the customer can still trade with you – cash on delivery.

· Be polite – remember the customer is trying to trade with you.

Email; letter; Notes. Layout as the question requests.

5 Settlement discounts.
A settlement discount is given if a customer pays early.

Advantage: the money can be used to reduce the overdraft balance, or, can be invested to earn interest.

Disadvantage: less money is received.

Learn this formula:

Annual cost of discount = 
d/100-d
x
365/N-D

d = discount%

N  = normal payment days

D = discount payment days.

The annual sales, average customer invoice, average debt is not relevant when working out the annual cost of discount.

Average credit terms are 60 days. ABC Ltd offer a discount of 2% for payment within 14 days.

Annual cost of discount = 
2/98%
x
365/60-14





=
16%

Karen J Mustard
P6
CRMAN_2.doc



